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GENERAL INSTRUCTIONS TO THE E}
' S ﬂﬁaﬁﬁ e |

(D)

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) usft we e rfar £ | | /‘
All the questions are compulsory.

(3) VI I T I TS IT-Yfeerr H 7 fordd |
Write the answer to each question in the given answer-book only.
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For questions having more than one part, the answers to those parts are to pe written

together in continuity.

5) m—m%%ﬁaéﬁaﬁmﬁmﬁwﬁzﬁ/aﬁm/ﬁﬂﬂmmsﬁw%:ﬁw%@
I TE T |

If there is any error / difference / contradiction in Hindi & English Versions of the
~ S
question paper, the question of Hindi version should be treated valid.

(6) maﬁrsﬁtﬁr@%ﬁqﬁmmm v Q?*

Write down the serial number of il@ﬁ%ggnon.bcfore attempting it,
KA
0% QE-3
| - SECTION - A
I EEETWTIW :
Multiple Choice Questions :
(i)  efor sfR i ST st T ST R -
(31) +Hfeai % wan
(3) o= % wan
(&) sfeTt 3 qrerret @ =T 3R
(8) &l % went
In rural settlements circular pattern foung _
(A) Along rivers
(B) Along roads
(C) Around lakes and tanks
(D) Along canals
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(i) WM TR H FHEE Had B @ ¢
(31) 1 9E 8 HH STEE (€) 10 9@ ¥ 50 R SHEEAT
(") 50 mE ¥ 37feres S (2) 1@ Y 10 ARG SHEET
What is the population of Mega City ?

(A) Population less than one lakh  (B) 10 lakhs to 50 lakhs population

(C) Population more than 50 lakhs (D) 1 lakh to 10 lakhs population

(iii) “Tafr=gar” HeheuT fepe Wit 61 @ 2

(37) Pifper oer (F) Yoo

(9) uem . d9e e (/) TaeE-di-an s
Who propounded the concept of “Neodeterminism” ?

(A) Griffith Taylor (B) Ratzel

(C) Ellen C. Semple - (D) Vidal-de-la Blache

(iv) T T ST I E —

(W) wgmiat W% f; @a |

Pull factor of Migratio @

(A) Political turmoil (B) Natural disasters

(C) Epidemics (D) Better job opportunities

(V) |l 5 @ Haesfier & 3 gew a9 1 R S A WS AR 7
(31) T~" HEmT! gea (&) HuT aes e
(|) et aemnl g (g) fren ags d@red

Which organisation does the work of road construction in strategicalj

areas ?

(A) State Highways Organisation
(B) Border Road Organisation

(C) National Highways Organisation

(D) District Road Organisation
sS-14-Geog.
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(vi) FH TG TR 2 — _
(37) HiweRR I (@) ¥I-TERE FEm
@) s (%) oiE-Fem e
-~ Knowledge based industry is —
(A) Software Industry (B) Petro-chemical Industrieg
(C) Sugar Industry (D) Iron and Steel Industry
(vii) Frfefea 3 @ de-sms HTyER e
(31) formmse (®)
(W) B (%)

Which of the follovs}ing is a type of ,n ?

(A) Lignite | » &N B) Uranium
(C) Haematite Of O Baie
(viii) @0% i o & — _

(37) = (%) =t
@) W% - (®) wmEw
Kharif crop is —

(A) Gram (B) Mustarg
(C) Wheat (D) Rice

(X) 2011 &} S0 Wmﬁmmmm%m%
?.

(3) aftey smmren (®) faer

(%) Hﬁ’raq-@ (%) SRy

ACCOrding to 2011 census, which state hag the highegy ,

(A) West Bengal (B) Bihar pOPUIation density 2

©) Tami] Nadu D) Uttar Pradegy, |
4-G€08.
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2. ﬁﬁmﬁqﬁﬁﬁq

Fill in the blanks : ,
() foea & s=ram R WHR |
has the highest sex-ratio in the world. 1

(i) s § ST 1 el ad & |

— plantations in Brazil are called Fazenda. 1
(i) TR 3 37 wferee 1 yeaid @ el
Alr transport in India made a beginning in year ; | 1
(iv) TR e 3 forg “awaTd urh @G W% 5t § =em
pes

1) 5 . .
Arwari Panj Sansad Program” for watershed management was conducted in

—_ district of Rajasthan. 1

3. mﬁamm:

Very Short Answer Type Questions :
() H=R % st wrest 3 @ Sereor R |

Give two examples of personal means of communication.

1

(i) PR =T 6 e € 7
What is retail trading ? 1
SS-I 4-Geug, l Turn over
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(i) TR SHEE & 319 1 G & ?
What do you understand by constant population ? 1

(iv) ma@@mmawm%m%mmﬁmwﬂw& ;

¢

Which mode of transport would you suggest to transport liquig

: and gaseous
substances over a long distance ?

gig-¢
SECTION - B

TERICH T3 :

Short Answer Type Questions :

S ]

4 m%mmﬁm%%ﬁmﬁm?@m!ﬁmmﬁ@ﬁ
. Cy” ‘ I 2 i
ot wirdl % = ferfa | Q‘% |
&
Which renewable energy resourc@:ould you suggest to saye exh
it
energy ? Write the name of any two sources of energy. Hble Yoiress of
Yix2= 1%
5. WRAH ‘G 3 2 3emgr Rl |
Write two examples of “Mining Town” in India.
| Yax2= 1%
| s st e
| '
Write any tWO economic consequences of Migration,
Yax2= 1%
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| , |
S e A iy ¥ P 3 fir e e 1 IaER AR 8 7 el < Tl 3

farae |
Which factors do you consider responsible‘ for the degradation of cultivable land ? Write

the name of any two factors. Zax2=1%

g, TV SRR % fped <) wepml w1 Seoi HINTT |

Mention any two types of rural settlement. Yax2=1%

9. WM Prvermamg & WWW% ? @@?ﬁ

What do you understﬁ&f%ionmcntal determinism ? | 1%

10. T S s < At @ st b A Rfae |

Write the names of two factors affecting tourism. Yax2=1Y

11 Ao St <6 18 o et sare |

State any two problems of rural settlement.

Yax2=1%

12, INRI i 3 Repedt <= e o m fafaw |
Write the names of any three sub-fields of economic geography. y,x3=1%
SS-14-Geog,. [ Turn over
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13. STE HIaH &l W8 HifT |

Explain Outsourcing, 1%

| 14, 991" 9 39 w1 e

1
What do you understand by “Conurbation™ ? ¥

LS. ¥ sifireh 37 ey srfires & 37 e 1w |

1%
QT I g l
Long Angye; Type Questions :
16.. ST e - 20027 < ol o e ferraaad] 1 et i |
Mention any three key features of the ~Indian National Water Policy-2002". 1x3=3

%31/ 0R
2ol T Sty 5 < o e fefare |

& i so arvesting.
Wri i€ Ay three advantages of rain water harvesting




17,

18.

19,

SS-1 4-Geo 8.

9
F T T mamﬁwaﬁqawﬁﬁaﬂhﬁq |

Describe any three industries based on raw material.

372/aT/ OR |
W%@ﬁﬁ%?ﬁﬂﬂ@ﬂﬁ@%ﬁaﬁﬁﬁwml

i i i ize.
Define manufacturing. Discuss any two industries based on s

3 7 gHgTed |

ation change ? Explain it.

Wqﬁaﬁ?%mﬁ—ﬁ@

What are the components of popul

Fyar/OR

W%Wﬁgﬂﬁﬁ$@mﬁ?ﬁ39

Exblain three economic factor@é‘ﬁi g the distribution of popu{anon.

4
)

@us —q
SECTION - D
ey a9
Essay Type Questions - ,
ST HIfT |
T 3 <fefy gt et fre A1 T
nd distribution of Sugar Industries in India..
a

Explain in detail the location

arerar/OR

TG 3 e} oy ararefe P

: : o Pactors
Discuss in detail any four fa

1x3=3

1+1X2=3

1x3=3

2x2=4

Wﬁmﬁ%wmﬁﬁwﬁéﬂmmu

affecting the location of industries in India.

1x4=4
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20. & Fate HiY 7 foreqa anforer s i o gormers faem it |

Make a comparison between intensive subsistence agriculture and extensive commercial

grain farming,

31%E1/OR

1x4=4

5 o s 2 7 e iy < et 8 7 e i

What is plantation agriculture ? Discuss the characteristics and areas of plantation agriculture.

1+1%x2=4

T ST 21§ 22 HHTE w1 § Seid § | T I 2 FH H1E |

Question Nos. 21 to 22 are related to map-work carryjag 2in

Torva wet wE % Sueres s T G- mﬁﬁ‘lﬁﬁii

Attach the given outline maps of Worl%ﬁ'lg«lrrdla with the answer-book.

gs-1

3\¥

WWW%%@—QﬂﬁMwmﬁﬁﬁmﬁm

(37) wad
(%) 3eEgR

(W) Rmm
(2) e

Mark the location of the following copper production areas on the given outline Map of the

India :

(A) Khetri
(B) Udaipur
(C) Singbhum

(D ) Bhilwara

4-Geo%

Yix4=2




22,

11
%qmﬁﬁ%%m—mﬁﬁﬁw%ﬁﬁ?mﬂm%ﬁﬁmﬁm:
(37) =geiieivs

(5) Iaf-ufvad g0d

(@) ol sHefer

() TSl

A%

Mark the location of the fﬂél% 9 o
5 T L% o

the World : _ o0 ¥

(A) NeMghlen

(B) North-Western Europe
(C) South-Eastern Australia

(D) Canada

e farming areas on the given outline Map of

Vix4=2
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AT Roll No.
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Outline Map of the World
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Roll No.

| &

ot (GEOGRAPHY)
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Outline Map of India
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